GMAT Focus Edition 2025 Sample Practice
Test

Introduction & Test-Taking Tips

Welcome to Your GMAT Focus Edition Sample Practice Test
* Quantitative Reasoning: 21 questions, 45 minutes
» Verbal Reasoning: 23 questions, 45 minutes

» Data Insights: 20 questions, 45 minutes

Test-Taking Tips

* Understand the Format: Know the types of questions and timing for each
section.

» Pace Yourself: Don’t spend too long on any one question; move on if you’re
stuck.

» Use Process of Elimination: Narrow down answer choices to improve
your odds.

* Practice Under Timed Conditions: Simulate real test conditions for best
results.

» Review Mistakes: Always review explanations for incorrect answers to
learn from them.

Quantitative Reasoning

Problem Solving & Data Sufficiency
1. If z + y = 14 and = — y = 6, what is the value of z?
A) 4
B) 6
O 8
D) 10



E) 12
2. What is the value of 3% x 33?
A9
B) 27
0 81
D) 243
E) 729
3. If the average of 10, 14, and z is 16, what is the value of z?
A) 14
B) 16
C) 18
D) 20
E) 24
4. Data Sufficiency: Is n an even integer?
(@) n?is even.
(b) n is divisible by 4.

A) Statement (1) ALONE is sufficient, but statement (2) alone is not suffi-
cient.

B) Statement (2) ALONE is sufficient, but statement (1) alone is not suffi-
cient.

C) BOTH statements TOGETHER are sufficient, but NEITHER statement
ALONE is sufficient.

D) EACH statement ALONE is sufficient.
E) Statements (1) and (2) TOGETHER are NOT sufficient.
5. If theratioofa: b =2 :5and a + b = 49, what is the value of a?
A) 7
B) 14
0 21
D) 28
E) 35



Verbal Reasoning

Reading Comprehension, Critical Reasoning, Sentence Correc-
tion

6. Reading Comprehension: Read the passage and answer the question.
“Many organizations now encourage flexible work arrangements to boost
productivity and employee morale. However, some leaders argue that re-
mote work reduces opportunities for spontaneous collaboration.”
According to the passage, why do organizations encourage flexible work
arrangements?

A) To increase collaboration

B) To boost productivity and employee morale
C) To reduce costs

D) To monitor employees

E) To discourage remote work

7. Critical Reasoning: All apples are fruits. Some fruits are green. Therefore,
some apples are green.
Is the conclusion above logically valid?

A) Yes
B) No

8. Sentence Correction: Select the correct version:
“Neither the manager nor his assistants (was/were) available for the meet-
ing.”

A) was
B) were

9. Which of the following best expresses the main idea of the passage?
“The rise of online education has made learning more accessible, but some
critics worry about the lack of personal interaction.”

A) Online education is less effective than traditional education.

B) Online education increases accessibility but may reduce personal in-
teraction.

C) Critics believe online education is superior.
D) Learning is only possible in person.
E) None of the above.

10. Choose the word that best completes the sentence:
“Despite her busy schedule, she always finds time to __ her friends.”

A) ignore



B) avoid
C) support
D) neglect

E) criticize

Data Insights

Table Analysis, Multi-Source Reasoning, Graphics Interpreta-
tion

11. Table Analysis: A company sold the following units in Q1:

12.

13.

Product X: 120 units
Product Y: 180 units
Product Z: 100 units
What is the total number of units sold?

A) 300
B) 380
C) 400
D) 450
E) 500

Multi-Source Reasoning: A student scored 85% in Math and 75% in En-
glish. What is the average score?

A) 75%
B) 77.5%
C) 80%
D) 85%
E) 90%

Graphics Interpretation: A pie chart shows that 45% of a company’s bud-
getis spent on salaries, 30% on marketing, and the rest on operations. What
percentage is spent on operations?

A) 15%
B) 20%
0 25%
D) 30%
E) 35%



Answer Key & Explanations

1.

10.
11.

12.

13.

D) 10

r+y=14,xr—y=06. Add: 22 =20 = =10
D) 243

3% x 33 =323 = 35 = 243

E) 24

(10+14+2)/3=16 = =24

D) EACH statement ALONE is sufficient.
(1) If n? is even, n must be even.
(2) If n is divisible by 4, n is even.

B) 14
a=2x,b=>5x,2xr+5r=49 = x="T,a=14

. B) To boost productivity and employee morale
. B)No

All apples are fruits, some fruits are green, but not necessarily apples.

B) were
“Neither...nor...” with plural subject: “were”

B) Online education increases accessibility but may reduce personal
interaction.

C) support

C) 400
120 + 180 + 100 = 400

C) 80%
(85 + 75)/2 = 80%

C) 25%
100% — 45% — 30% = 25%

Instructions

For further customization or more questions, let me know your requirements!



